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This Question paper containg - five
Section A has |8 MCQ’s and 12 Assertion-
Section B has 5 Very Shory Answer
Section C has 6 Short Any wer (SA)-tvpe questions of 3 marks each
Section D has 4 Long Answer (14 J-tvpe questions of 5 marks each
Section E has 3 case based int

egrated units of assessment (04 marks
subparts of the valyes of 1. | and 2 marks cach respectively.

All Questions are compulsory. However, an internal choice in 3
3 marks and 2 Que

Stions of 2 marks has been provided An internal chotee has beer
provided in the 2 marks questions of Section £

Draw neat figurey wherever required
Lse of the Caleudator is not permitted,

sections’4, B, C, p and E

Reason hage questions of |

! mark each
(VSA)-tvpe questions of 2 maphy o

cich

each) with

SECTION-A (20x1=20)
The value of ¢ for which the equation gxz = bx + ¢ =0 has equal roots is:
\ b " b
) < - L
© Pw O=Yer
The systemkx - v =2and 6x -2y =3 hasa unigue solution vnly when: L y C
JdA) k=3 (B) krﬂ_ i
(Cy k =3 Dy k=3 0
The distance between (tan a, 0) and (0, 1) 1s: N _,[_
A vers (B) cota (;/dl' ‘}_q
{ Ll SE€CU. (D) coto :?
< =i
Find the 7% term {rom the end of the AP -11, -8, -5, 9 *'E i >
N 5 (D) 31 i
(Cy 26 < ;} ‘
¢ = aand x = b graphically represent two lines & )
: . srpendicular to v axis | .
(A) intersecting at (ab) (B} perpendic | J - :
; arallel o v axis
(i parallel o x axis (D) paralle I
(< 4

202425

< (s of 3 marks, 2 0y o

Y
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23.

24.

05

The minute hand of a clock is 84c¢m long. The distance covered by the tip of miny,
hand from 10:10 am to 10:25 am is

(A) d4dcm (B) 88cem
(C) 132c¢m (D) 176em

ASSERTION _REASON BASED UESTIONS

atement of Assertion (A) .t-;ﬁ:ﬂrm-'ed by a statemen; af

( answer out of the following choices.
! R is the correct explanation of A.
R is not the correct explanation of A.

In the following questions, a Si
Reason (R). Choose the correc
(4) Both A and R are true ane
iB) Both A and R are true but
(C) A is true but R is false.

(D) A is false but R is rue.
3" x Sand LCM (a,b,c) =2° » 3

Assertion (A) : Ifa=2"x3,b=2x3~ 5, 6=
S5,then n = 2 o ] o
Reason (R): product of the numbers = Product of their HCF and their LCM |
Assertion (A): Quadrilateral ABCD circumscribes a circle. ZAOB = 125%and
2C0D = 55°

@V |

Reason (R): The opposite sides of a quadrilateral that circumscribes a circle. subtend 4
pair of supplementary angles at the centre of the circle. ¢

SECTION-B (3X2=10)

[he line segment joining the points A (4, -5) and B(4. 5) 15 divided by the point |
such that AP : AB = 2:5. Find the coordinates of P.

Prove that v/3 is not a rational number.
. i i 4 ; o I —
In what ratio does the point (E* 6) divide the line segment joining the points (3,5)
and (-7,9)?

If sin 0+ cos 6 = / and sec 0 + cosec 0 = m, then prove thatm ([ 1) 2/

[wo rangent segmenlts AB and AC are drawn to a cirele throuvh a potnt A\ such i
BAC=120° Prove thatO4= 248, given O to be the centre of the circle



- olid wooden sphere is rem. It is divided into two equal parts.
Ihe radius of @59 ) S

1, Ther . . grea of two pars ¥ _

[he total surfice aret s By Anr?

IA:' EHT!'JI {I}] H"rf

; 3ar _
i {aright circular conc whose area of the base 1s 156 cm? and the
volume of a ng

2 The : 2 R '. 2_
12 vertical hmgh:?:; 8cm 18 ) 1248 fm_: S. 2
(A) ke (D) 1664 cme

\o
re Scm, 6 cm and 8cm respectively. The radius of the circle
| to the sum of the circumferences of three circles.

{{‘} 4lﬁflﬂ3

The radil ol three circles a

f; ; 'l- -
e circumference equa
:ﬁ;tngﬁ:; (B) |Scm ) fj;f,: J'O FT'H'QF{@’
/ D) 19cm
(C) l4em (D) 18-
The median of a data exceeds the mean by 2. By how much does the mode exceed its q
14, The =

mean ?

(A) 3 (8 ©

) 9 (D) 12

= ] = = 5% + 4. D=3%
15. inthegivenﬁgure,QRHAB,RPHBD,CQ x+2,QA=x,CP=5x+4 PD=3x

Then the value of x is

| S &

' /?\_ Xi_g_":fs—ﬁ%
N

i{}.

y

’ ' 3><‘% 6 2 \S‘KFE:(_{
(A) 1 (B) 6
(€) 3 (D) 9 S
guess

If the point (x. 4) lies on a circle whose centre is at the origin and radius is Sem

then the value of X is ?
(A) 4 (B) +3 Vo' (6 =28

(C) 4 (D) 3 v
P
Consider the following [fequency distrihutiuﬁ_‘ufthc heights of 60 students:
Wi, in 15055 5560 | 60— 63 | 65-70 | 70-75 | 75-80
_Kg | e | | .. |
' T s 1 _
No.ofstudents | 15 | 13 | 10 | 8 9 S

The sum of the lower limit of the modal class and upper limit of the median class 15
(A) 110 B) 115
(C) 120 D) 130



0 !H the adjoining figure, AR and AC are tangents to the circle. Ifthe length of Ay
S 12 em, find the perimeter of AAPQ

(A) 16cm (B) 18 ¢cm
(C) 24em (D) 30 cm

7. Aman factorized a quadratic polynomial and found its zeros to be real. Which of
the following could represent the graph of that polynomial?

% (A) Only (iii) (B)  Only (i) and (i)
#(C) Only (iii) and (iv) (D) Only (i), (if) and (iv)

—

, . 3 1 :
8. Given that sinag = V? and tanfl = 5 then the value of cos(a — f):

y‘g 1
(A) % (B) E
(C) 0 (D) T

9. Quadrilateral ABCD is circumscribed about a circle. The sides AB. CD and AD
are of lengths 5.4 cm, 6.9 ¢cm and 4.7 em respectively Then length of BC 1s
(A) 6.2cm (B) 32cm
(C) 7.6cm (D) 4.8cm

10, If 3x = cosec & and % = cot 0, find the value of 3(x* - _11_'
(A) 1 (B 3
_ 1
(S (D) —=



['wo cars start from A and
dlig

rt on a highway.
same direction, they meet in 15 hoy,

A and B are two points 150 km apa
t in one hour. Find their

[ they move 1n the
ctions, they mec

Mo (a)
BB at the same time. |

But if they move in opposite dire
speeds.
(b) 1f-3 is a root of the quadratic equation Ixt 4 px — ]5_ = () and the equation
p(x? +x)+k= 0 has cqual roots. find the values of p and k.
35, The mean of the following data is 78, find the values of x and y p
Class interval | 50-60 | 60-70 17080 80-90 | 90-100 | Total _
LA | 6 | 12 | x | r— 50

| Frequency 6

irls are recorded in the following table.

The heights (in cm) of 50 g
Height in cm) | 120-] 30 1 130-140 | 140-1 50 |' 150-160 | 160-170
— s | 12 | 0 | 8
__i__ J____]____.l._
em find the mean height.

Calculate the median and modal height. Hence, using th

SECTION-E

‘Noofgirls

(3x4=12)

An auditorium has 20 seats in the first row, 24 seals in the second and 28 seats 1o the

third row and so on.

(A) How many seats are there in the 16" row?
(B) Inthe of itori ,
) he last row of the auditorium there are 116 seats. How many rows arc there

in the auditorium?
(C)  What is the total number of seats in the auditorium?

- R
[f thev are P[d : .
; nning to have a total of 2340 seats in the auditor
would mt}_ have? 340 seats in the auditorium. How many rows



SE( TION-C

4 48 guava trees, 60 pmuupplc trees and 96 mango trees. [hese |
s 45 ¢ s have

¢ such that such ench row has the same number of tree le_ 3

S and )|

2 A garden
he arranged 10 Fow il .
Find the minimum number of such rows that can be formed

are of same ype
s of the quadratic polynomial x* - 6x + a; find the value of
5 d 1

7. Ifa and B arc 7€rot
ja+2p- 20

l
=x+ ;l—lhl:l‘.l prove that secl + tanf = 2x or 7=
X X

s I sect
rs are such that the square of the middle number

nsecutive natural numbe
other two by 60. Find the numbers.

difference of the squares of the
OR

{ k for which the roots of the quadratic equation
x +2=0are real and equal.

s of AMABC and APQR respectively where AABC

29 Three co
exceeds the

Find the value 0

(k —4) x* + 2(k = 4)
APOR.

30.
Prove that o S
31 A chord of a circle of radius 12 cm subtends an angle of | 20° at the centre. Find the
area of the minor segment of the circle. (Use T = 3.14 and ¥3 = 1.73)
’ OR
The perimeter of a sector of @ circle of radius 5.6 cm is 27.2 em. Find the area of the
sector.
SECTION-D (4x5=20)
32, The angle of elevation of an aeroplane from a point on the ground 1s
gle of elevation changes (0 30°, If the plane 1s

45°, after flving for 15 seconds the an
flying at a height of 2500m, find the speed of
" is the centre of a circle of radius Scm.
le at . If AB is a tangent to the
two tangents to the circle.

the planc. (Giveny/3 = 1.732)

[n the adjoining figure O [ is a point such
that OT=13 cm and OT intersects cire circle at E.

Find the length of AB, where TP and TQ are
P‘

L}
el

OR

er 'Liiﬂgl;.'!'ﬂ

a cirele with centre O and anoth
LJ{}-_I

PO and RS are two paralle] tangents o
and RS at B. Prove that ZAOB

AB with point of contact C intersects PQ at A
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r 37. A carpenter is making decorative picces from wood. He has tw

side 7 cm each. He decides to scoop out the largest hemisphere from ;'me n{t]' ;llhc.s' o
one of the cubes and attach it at the top of the other one. Eehcket

7N

e
Fem

Figuer 1
| Based on the above information, answer the following questions:
(A) What is the depth of the hemisphere removed from the first cube”

(C) What is the total surface area of the toy (Refer figure 1)?

OR

orative cubes in figure 2 and figure 17

den shelves, Kartik came across this
llel to the base BC could be

(B) What part (value) of the surface area of the cube (in sq. cm) is lost because o1
removing the hemisphere? (Refer figure 1) - ¢ "'
What is the difference in the volumes of the dec
38, While browsing through the catalogue of woo
beautiful triangular shaped shelf. In the shelf, DE is para
used for displaying small plants and showpieces.

¥ L

Based on the above information, answer the fulluﬁ'ing unstinnsz
(A) Find the relation between the sides AD, DB, AE and EC. Also,

mention the theorem

used.
‘B Find the length of AD given AE
le ABC if the perimeter of trian

OR

~1.8¢cm, BD = 72 em and CE = 5.4 cm.

((') Find the perimeter of triang gle ADE is 7.4¢m
' ~ ;= x cmand EC
Find the value of x, if AD = (x + 3)em, BD= (3x + 19) cm, AE = x cm and |

(3x + 4)cm.
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